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void init_pit (void) { /* Setup PIT with Interrupt */
AT91S_AIC * pAIC = AT91C_BASE_AIC;

*AT91C_PITC_PIMR = AT91C_PITC_PITIEN | /* PIT Interrupt Enable */

AT91C_PITC_PITEN | /* PIT Enable */



PIV; /* Periodic Interval Value */
/* Setup System Interrupt Mode and Vector with Priority 7 and Enable it */
pAIC->AIC_SMR[AT91C_ID_SYS] = AT91C_AIC_SRCTYPE_INT_POSITIVE_EDGE | 7;
pAIC->AIC_SVR[AT91C_ID_SYS] = (unsigned long) pit_int;

PAIC->AIC_IECR = (1 << AT91C_ID_SYS);
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int sendchar (int ch) {

if (ch=="\n") {

while (!(pUSART->US_CSR & AT91C_US_TXRDY)); pUSART->US_THR = "\r';

}

while (!(pUSART->US_CSR & AT91C_US_TXRDY));
return (pUSART->US_THR = ch);
}
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